
�
��

35,0256.2�*25$16.$�ä83$1,-$�äXSDQLMVNL�]DYRG�]D�RGUåLYL�UD]YRM�L�SURVWRUQR�SODQLUDQMH���������������1$ý,1�5$=9567$9$1-$�0256.,+�/8.$�,�3295â,1$�8�)81.&,-,�6,'5(1-$�,�35,9(=$�8�35267251,0�3/$129,0$���SULMHGORJ�EU������
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�
�

5LMHND������WUDYDQM�������
�



� �

�
�

���892'�8� SURFHVX� L]UDGH� L� XVXJODãDYDQMD� SURVWRUQLK� SODQRYD� DNWXDOL]LUDQD� MH� WHPD�
SODQLUDQMD��RGQRVQR�UD]YUVWDYDQMD�OXND�L�UD]JUDQLþHQMD�QMLPD�SULSDGDMXüLK�OXþNLK�SRYUãLQD��
2YR� L]� UD]ORJD�GRQRãHQMD�QRYLK�SURSLVD��D�SRVOMHGLþQR� L�GUXJDþLMLK� UMHãHQMD�X�]DNRQLPD� L�
SRG]DNRQVNLP� DNWLPD� NRML� UHJXOLUDMX� RYX� SUREOHPDWLNX� XQXWDU� UD]OLþLWLK� UHVRUD�
�SUYHQVWYHQR� SURVWRUQR� SODQLUDQMH� L� SRPRUVWYR��� 1HGRXPLFH� VX� VH� SRMDYLOH� RVRELWR� SUL�
SODQLUDQMX�OXþLFD�QDPLMHQMHQLK�SULYH]X�PDQMLK�SORYLOD�VWDQRYQLãWYD��SULREDOQLK�QDVHOMD��NRMH�
X�QDUDYL�L�QLVX�OXNH�YHü�NRPXQDOQH�PRUVNH�SRYUãLQH�QDPLMHQMHQH��SDUNLUDQMX�SORYLOD��D�QH�
OXþNLP�GMHODWQRVWLPD��

3UL�UD]PDWUDQMX�RYH�WHPH�VD�L]UD LYDþLPD�SODQRYD��GMHODWQLFLPD�XSUDYQRJ�RGMHOD�]D�
SRPRUVWYR� L� SUHGVWDYQLFLPD� MHGLQLFD� ORNDOQH� VDPRXSUDYH�� SRMDYLOD� VX� VH� UD]OLþLWD�
UD]PLãOMDQMD� R� WRPH� NRMLP� VH� SODQRYLPD� L� QD� NRML� QDþLQ� WUHEDMX� RGUH LYDWL� OXþLFH� RG�
ORNDOQRJ�]QDþDMD��GD�OL�VH�XRSüH�UDGL�R�OXNDPD�L�DNR�GD�NRMRM�YUVWL�OXND�RQH�SULSDGDMX��WNR�
QMLPD�XSUDYOMD�LOL�EL�WUHEDR�XSUDYOMDWL��NDNYD�MH�YH]D�L]PH X�QD]LYD�SRMHGLQLK�YUVWD�OXND�]D�
NRMH� VX� L]GDQH� NRQFHVLMH� SR� VWDULP� SURSLVLPD� L� SODQRYLPD� L� GDQDãQMHJ� QD]LYOMD� L]� QRYLK�
SURSLVD�L�VO��6YH�QDYHGHQH�QHGRXPLFH�X�SHULRGX�L]UDGH�QRYH�JHQHUDFLMH�SODQRYD�UH]XOWLUDOH�
VX��UD]OLþLWLP�SODQVNLP�UMHãHQMLPD�X�3382�*��SD�QDVWDYQR�L�X�SODQRYLPD�XåHJ�SRGUXþMD���

3UL� WRPH� MH�äXSDQLMVNL�]DYRG�SUL� L]UDGL�0LãOMHQMD�QD�SURVWRUQH�SODQRYH�SRNXãDYDR�
XQLILFLUDWL� UMHãHQMD� YH]DQD� X]� QDYHGHQX� SUREOHPDWLNX�� PH XWLP� ]ERJ� SURPMHQH� SURSLVD�
QHND�UDQLMH�NRULãWHQD�UMHãHQMD�YLãH�VH�QH�PRJX�SULPMHQMLYDWL��MHU�QLVX�VD�QMLPD�XVNOD HQD��

8� FLOMX� UMHãHQMD� RYRJ� SUREOHPD� L]YUãHQD� MH� NRPSDUDFLMD� SURSLVD�� VDJOHGDQH� VX�
PRJXüQRVWL� L� L]UD HQ� MH� RYDM� SULMHGORJ� QDþLQD� SODQLUDQMD� OXND� L� PRUVNLK� SRYUãLQD�� QD�
SRMHGLQRM� UD]LQL� SODQLUDQMD�� 3UL� WRPH� MH� QDSUDYOMHQ� QDSRU� GD� VH� XGRYROML� VYLP�]DNRQVNLP�
QRUPDPD�NRMH�UHJXOLUDMX�RYX�SUREOHPDWLNX��WH�GD�VH�GRVDGDãQMH�X]DQFH�L�XRELþDMHQL�QDþLQL�
XSUDYOMDQMD�PRUVNLP�SRYUãLQDPD�QD�NRMLPD� VH�QH�REDYOMDMX�RVQRYQH� OXþNH�GMHODWQRVWL� QH�
LJQRULUDMX��YHü�GD�VH�SRVWHSHQR�]DPLMHQH�UMHãHQMLPD�NRMH�QDPHüH�SODQHUVND�ORJLND��
����35,-('/2*�1$ý,1$�5$=9567$9$1-$�,�2'5( ,9$1-$�3295â,1$��/8.$���

/XND� X� QDUDYL� SUHGVWDYOMD� WRþNX� X� NRMHP� NRSQHQL� SURPHWQL� SUDYDF� SRVWDMH�
SRPRUVNLP� SURPHWQLP� SUDYFHP�� 2QD� VH� XYLMHN� VDVWRML� �LOL� EL� VH� WUHEDOD� VDVWRMDWL�� RG�
NRSQHQRJ� GLMHOD� L� SULSDGDMXüHJ� DNYDWRULMD� XQXWDU� NRMHJ� VH� RGYLMDMX� UD]OLþLWH� OXþNH�
GMHODWQRVWL���

3ROD]HüL�RG�QDYHGHQRJ�ORJLþQR�MH�GD�QDPMHQD�PRUVNRJ��YRGHQRJ��GLMHOD�OXNH�WUHED�
ELWL� VXNODGQD� QDPMHQL� SULSDGDMXüH� REDOH�� � $QDORJQR� WRPH� SURL]OD]L� GD� VH� X� SURVWRUQLP�
SODQRYLPD��X]�JUD HYLQVNR�SRGUXþMH�RGUH HQH�QDPMHQH��PRåH�SODQLUDWL�RQD�YUVWD�OXNH�NRMD�
MH�X�IXQNFLML�WH�QDPMHQH��3ULPMHULFH���
�
8]�JUD HYLQVNR�SRGUXþMH�LQGXVWULMH�⇒��LQGXVWULMVND�OXNX�
8]�JUD HYLQVNR�SRGUXþMH�VSRUWD�L�UHNUHDFLMH�⇒��VSRUWVND�OXNX�
8]�JUD HYLQVNR�SRGUXþMH�WXUL]PD⇒��WXULVWLþND�OXNX��OXNX�QDXWLþNRJ�WXUL]PD��
8]�JUD HYLQVNR�SRGUXþMH�SRVHEQH�QDPMHQH�⇒��OXND�SRVHEQH�QDPMHQH�
8]�JUD HYLQVNR�SRGUXþMH�QDVHOMD�⇒���QDVHOMVND�OXND��
�

3UL� WRPH� WUHED� YRGLWL� UDþXQD� GD� JUD HYLQVNR� SRGUXþMH� QDVHOMD� QLMH� MHGQR]QDþQR� X�
SRJOHGX��QDPMHQH��YHü�MH�NRQJORPHUDW�UD]OLþLWLK�QDPMHQD��SD�SULPMHQMXMXüL�UDQLMH�QDYHGHQX�
ORJLNX�SURL]OD]L�GD�VH�PRUVNH��YRGHQH��SRYUãLQH�X]�RYX�YUVWX�JUD HYLQVNRJ�SRGUXþMD�PRJX�
QDPLMHQLWL�VYLP�RQLP�QDPMHQDPD�NRMH�VH�RGYLMDMX�X�NRSQHQRP�GLMHOX��7DNR�MH�X]�QDVHOMH�
PRJXüH� SODQLUDWL� OXNX� RWYRUHQX� ]D� MDYQL� SURPHW�� DOL� L� UD]OLþLWH� OXNH� SRVHEQH� QDPMHQH�� X�



� �

VNODGX� VD� GMHODWQRVWLPD� NRMH� VH� RGYLMDMX� X� QDVHOMX� �OXND� EURGRJUDGLOLãWD�� VSRUWVND� OXþLFD��
OXND�SRVHEQH�QDPMHQH��OXND�QDXWLþNRJ�WXUL]PD�LWG����
6XNODGQR�WRPH��X�QDVHOMX�VH�PRåH�RGUHGLWL�L�PRUVND�SRYUãLQD�LOL�IRUPLUDWL��OXND��NRMD�MH�X�
IXQNFLML� RVQRYQH� QDPMHQH� QDVHOMD�VWDQRYDQMD�� 7D� MH� SRYUãLQD� QDPLMHQMHQD� VDPR� L�
LVNOMXþLYR� SULYH]X�PDQMLK� EURGLFD� VWDQRYQLãWYD� SUHGPHWQRJ� L� HYHQWXDOQR�RNROQLK�QDVHOMD��
GDNOH�VYRMHYUVQRP��SDUNLUDQMX��SORYLOD��$QDORJQR�WUHWPDQX�SDUNLUDQMD�QD�NRSQHQRP�GLMHOX�
RYD�VH�GMHODWQRVW�PRåH�VPDWUDWL��NRPXQDOQRP��VDPR�ãWR�SDUNLUDOLãWH�QLMH�WYUGD��YHü�YRGHQD�
SRYUãLQD���
�
�
����1$ý,1�5$=9567$9$1-$�,�2'5( ,9$1-$�3295â,1(�/8.$�8�3382�*�
��

D�� 1DþLQ�UD]YUVWDYDQMD�OXND�
�

.DUWD����.RULãWHQMH�L�QDPMHQD�SRYUãLQD��6KHPD����7DEOLFD����
�

/XNH�RWYRUHQH�]D� MDYQL�SURPHW�GUåDYQRJ� L�åXSDQLMVNRJ��SUHX]HWL� L]�33ä��� WH� ORNDOQRJ�
]QDþDMD�SUHPD�QDPMHQL�UD]YUVWDWL�QD��

�� SXWQLþNH�OXNH��8,���
�� WHUHWQH�OXNH��*'���
�� NRPXQDOQH�OXNH��32���
�� OXNH�]D�RVWDOH�GMHODWQRVWL��2'���
�

/XNH� SRVHEQH� QDPMHQH� GUåDYQRJ� L� åXSDQLMVNRJ� ]QDþDMD� �SUHX]HWL� L]� 33ä�� SUHPD�
QDPMHQL�UD]YUVWDWL�QD��

�� YRMQH�OXNH��/9���
�� VSRUWVNH�OXNH��/6���
�� EURGRJUDGLOLãQH�OXNH��/%���
�� LQGXVWULMVNH�OXNH��/,���
�� ULEDUVNH�OXNH��/5���
�� OXNH�QDXWLþNRJ�WXUL]PD��/1���

�
E�� 1DþLQ�RGUH LYDQMD�SRYUãLQD�OXND���
.DUWD����.RULãWHQMH�L�QDPMHQD�SRYUãLQD��6KHPD����7DEOLFD����

�
=D� VYH� YUVWH� OXND� �RWYRUHQH� ]D� MDYQL� SURPHW� L� SRVHEQH� QDPMHQH�� RGUHGLWL� SULSDGDMXüL�
DNYDWRULM� L� GMHODWQRVWL� NRMH� VH� XQXWDU� QMHJD� VPLMX� RGYLMDWL�� RGQRVQR� QDPMHQX� OXNH�
�SXWQLþND�WHUHWQD��NRPXQDOQD��RVWDOD����
2GUHGLWL� DNYDWRULM� ]D�VLGUHQMH� L�SULYH]��GR����YH]RYD���.RSQHQL�GLR� OXNH�QLMH�PRJXüH�
RGUHGLWL� RE]LURP� GD� VH� UD]JUDQLþHQMH� JUD HYLQVNRJ� SRGUXþMD� YUãL� VDPR� QD� QLYRX�
RVQRYQH�QDPMHQH��QSU��QDVHOMH���
�
.DUWD����8YMHWL�]D�NRULãWHQMH��XUH HQMH�L�]DãWLWX��SURVWRUD��6KHPD����7DEOLFD����
5D]JUDQLþLWL�DNYDWRULM�NRML�VH�PRåH�MDYQR�NRULVWLWL�RG�RQRJ�X�SRVHEQRM�XSRWUHEL�QD��

�� OXþNR�SRGUXþMH�OXNH�RWYRUHQH�]D�MDYQL�SURPHW�
�� OXþNR�SRGUXþMH�OXNH�SRVHEQH�QDPMHQH�
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����1$ý,1�5$=9567$9$1-$�,�2'5( ,9$1-$�3295â,1(�/8.$�8�838�
�

D�� 1DþLQ�UD]YUVWDYDQMD�OXND��
6YH�OXNH�L�SRYUãLQH�X�IXQNFLML�VLGUHQMD�L�SULYH]D�RGUH HQH�VX�X�3382�*�

�
E�� 1DþLQ�RGUH LYDQMD�SRYUãLQD�OXND��

.DUWD����.RULãWHQMH�L�QDPMHQD�SRYUãLQD��6KHPD����7DEOLFD����
�

2GUHGLWL� SRYUãLQX� NRSQD� L� SULSDGDMXüL� DNYDWRULM� ]D� VYDNX� SRMHGLQX� YUVWX� OXNH��
RGQRVQR�OXþNX�GMHODWQRVW��
�

�� XNUFDM�L�LVNUFDM�SXWQLND��SXWQLþND�OXND���
�� XNUFDM��LVNUFDM��VNODGLãWHQMH�URED��WHUHWQD�OXND���
�� SULYH]�L�RGYH]�EURGLFD��NRPXQDOQD�OXND���
�� RVWDOH�GMHODWQRVWL��

�
�� YRMQD�OXND��
�� VSRUWVND�OXND��
�� EURGRJUDGLOLãQD�OXND��
�� LQGXVWULMVND�OXND��
�� ULEDUVND�OXND��
�� OXND�QDXWLþNRJ�WXUL]PD�
�� VLGULãWH��
�� SULYH]LãWH��GR����YH]RYD��

�
�
�

�
� .DUWD����8YMHWL�]D�NRULãWHQMH��XUH HQMH�L�]DãWLWX��SURVWRUD��6KHPD����7DEOLFD����

� 5D]JUDQLþLWL�SRYUãLQH�NRSQD�L�PRUD�]D�MDYQR�NRULãWHQMH�RG�RQLK�X�SRVHEQRM�
XSRWUHEL�QD��

�� OXþNR�SRGUXþMH�OXNH�RWYRUHQH�]D�MDYQL�SURPHW�
�� OXþNR�SRGUXþMH�OXNH�SRVHEQH�QDPMHQH�
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��� 35,-('/2*�835$9/-$1-$�5$=*5$1,ý(1,0�3295â,1$0$�/8.$���
3UL� UD]PDWUDQMX� GRVDGDãQMHJ� QDþLQD� XSUDYOMDQMD� OXNDPD� L�PRUVNLP�SRYUãLQDPD� VD�

SUHGVWDYQLFLPD�MHGLQLFD�ORNDOQH�VDPRXSUDYH�XVWDQRYOMHQR�MH�GD�QH�SRVWRMH�ELWQR�GUXJDþLML�
SULMHGOR]L�]D�XSUDYOMDQMH�OXNDPD�RG�RQLK�XVWURMHQLK�WHPHOMHP�YDåHüH�UHJXODWLYH�NDGD�VX�X�
SLWDQMX� SXWQLþNH� OXNH� L� WHUHWQH� OXNH� LOL� OXNH� SRVHEQH� QDPMHQH�� 0H XWLP� UD]OLþLWD� VH�
UD]PLãOMDQMD�MDYOMDMX�SUL�UD]PDWUDQMX�QDþLQD�XSUDYOMDQMD��OXþLFDPD���RGQRVQR�NRPXQDOQLP�
OXNDPD� �32�� NRMH� VOXåH� LVNOMXþLYR� SULYH]X�PDQMLK� SORYLOD� GRPLFLOQRJ� VWDQRYQLãWYD��2QH�
GDQDV�QHULMHWNR� LPDMX� UD]OLþLW� VWDWXV� L� WUHWPDQ�þDN� L�XQXWDU� LVWH�RSüLQH� LOL�JUDGD��RYLVQR�R�
WRPH�GD�OL�VH�QDOD]H�XQXWDU�OXþNRJ�SRGUXþMD�LOL�QH��8�NROLNR�VX�XQXWDU�OXþNRJ�SRGUXþMD�OXNH�
RWYRUHQH�]D�MDYQL�SURPHW�QMLPD�XSUDYOMD�OXþND�XSUDYD��D�X�NROLNR�VX�L]YDQ�QMHJD�NRPXQDOQD�
GUXãWYD� LOL� SDN� XRSüH� QH� SRVWRML� XSUDYLWHOM�� ,VNXVWYD� SRMHGLQLK� ORNDOQLK� VDPRXSUDYD� VD�
UD]OLþLWLP�XSUDYLWHOMLPD�UD]OLþLWD�VX��1HNH�]DJRYDUDMX�XSUDYOMDQMH�SXWHP�OXþNLK�XSUDYD��GRN�
GUXJH� VPDWUDMX� GD� MH� RYRP�YUVWRP� OXND�PRJXüH� HILNDVQLMH� XSUDYOMDWL� SXWHP� NRPXQDOQLK�
GUXãWDYD�NRMH�RVQLYD�VDPD�MHGLQLFD�ORNDOQH�VDPRXSUDYH���
�
,DNR� MH�X� VPLVOX�QDPMHQH�SULYH]� �PDOLK�SORYLOD�GRPLFLOQRJ�VWDQRYQLãWYD�þLVWD�NRPXQDOQD�
GMHODWQRVW�� þLQMHQLFD� MH� GD� VYH� -/6�� RGQRVQR� QMLKRYD� NRPXQDOQD� GUXãWYD� QLVX� X� VWDQMX�
NYDOLWHWQR�YRGLWL�EULJX�R�XUH HQMX�L�RGUåDYDQMX�RYLK�PRUVNLK�SRYUãLQD��SD�VH�X�WRP�VOXþDMX�
XSUDYOMDQMH�SXWHP�OXþNLK�XSUDYD�þLQL�NYDOLWHWQLMLP�UMHãHQMHP��
0H XWLP�� RE]LURP� GD� MH� /XþND� XSUDYD� PRåH�� X� VNODGX� VD� SURSLVLPD�� SRMHGLQH� OXþNH�
GMHODWQRVWL�SRYMHULWL�SUDYQRM� LOL� IL]LþNRM�RVREL� WHPHOMHP�NRQFHVLMH��RWYRUHQD� MH�PRJXüQRVW�
XVSRVWDYH� XSUDYOMDQMD� NRPXQDOQLP� OXNDPD� SXWHP� NRPXQDOQRJ� GUXãWYD�� NRMH� VH� X� RYRP�
VOXþDMX�SRMDYOMXMH�NDR��SRGNRQFHVLRQDU���

=ERJ� VYHJD� QDYHGHQRJ� QXåQR� MH� SURVWRUQLP� SODQRP� VWYRULWL� SUHGXYMHWH� ]D�
MHGQR]QDþDQ� QDþLQ� XSUDYOMDQMD� OXNDPD�� NDNR� EL� VH� L]EMHJOL� SUREOHPL� L� QHGRXPLFH� SUL�
L]GDYDQMX�NRQFHVLMD��

3ULMHGORJ� QDþLQD� SODQLUDQMD� OXND� �QDþLQ� RGUH LYDQMD� YUVWH� L� QDPMHQH� OXNH�� WH�
GMHODWQRVWL� NRMH� VH�PRJX� SODQLUDWL� XQXWDU� SRMHGLQH� YUVWH� OXND�� � L�PRJXüQRVWL� XSUDYOMDQMD�
WDNR�RGUH HQLP�SRYUãLQDPD�SULND]DQ�MH�X�WDEOLFL����
�
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�

/8.(� 3/$1,5$1-(� 835$9/-$1-(�
9567$��

SUHPD�UHåLPX�
NRULãWHQMD�L�]QDþDMX�

1$0-(1$��
SUHPD�GMHODWQRVWL�
NRMD�VH�X�QMLPD�

RGYLMD�
'-(/$71267� 9567(�/8.(� 1$0-(1(�/8.(� 3295â,1(� 835$9,7(/-�

SXWQLþND�OXND�
�
XNUFDM�L�LVNUFDM�
SXWQLND�L�YR]LOD�
�

WHUHWQD�OXND�
�
XNUFDM��LVNUFDM��
SUHNUFDM��SULMHQRV�L�
XVNODGLãWHQMH�URED�L�
GUXJLK�PDWHULMDOD�
�

NRPXQDOQD�OXND�
�
SULYH]�L�RGYH]��MDKWL��
VSRUWVNLK�L�GUXJLK�
EURGLFD��
�

/8.$�27925(1$�=$�-$91,�3520(7�
GUåDYQRJ�
åXSDQLMVNRJ�L�
ORNDOQRJ�]QDþDMD��

RVWDOH�YUVWH� �

33ä�VLPERORP�
GUåDYQL�]QDþDM��

��åXSDQLMVNL�]QDþDM��

��3382�*�VLPERORP�
ORNDOQL�]QDþDM��

�

�3382�*�
VLPERORP��
SXWQLþND��

�WHUHWQD��

�NRPXQDOQD��

�RVWDOD��

� �

�3382�*�RGUH XMH�VH�DNYDWRULM�NRML�SULSDGD�
OXFL�IRUPLUDQRM�X�X]�
SULSDGDMXüH�
JUD HYLQVNR�SRGUXþMH�
�SRVHEQD�QDPMHQD��
WXUL]DP��LQGXVWULMD��
QDVHOMH�L�VO�����
�838�RP��VH�RGUH XMH�
SRYUãLQD�OXNH�
�SULSDGDMXüL�NRSQHQL�
GLR�L�DNYDWRULM��]D�
VYDNX�QDPMHQX��
RGQRVQR�GMHODWQRVW�OXNH�
�SXWQLþND��WHUHWQD��
NRPXQDOQD��RVWDOD��

�/8ý.$�835$9$���
OXþND�XSUDYD�PRåH�
SRMHGLQH�OXþNH�
GMHODWQRVWL�SRYMHULWL�
SUDYQRM�LOL�IL]LþNRM�RVREL��
WHPHOMHP�NRQFHVLMH��
�⇒�PRJXüQRVW�
NRPXQDOQD�OXND�
NRPXQDOQR�GUXãWYR��
�

YRMQD�OXND�
SULKYDW�L�VPMHãWDM�
YRMQLK�SORYQLK�
REMHNDWD�

OXND�QDXWLþNRJ�WXUL]PD�
SULKYDW�L�VPMHãWDM�
SORYLOD��L�SUXåDQMH�
XVOXJD�NRULVQLFLPD�L�
SORYLOLPD�

LQGXVWULMVND�OXND�

SULYH]�SORYQLK�
REMHNDWD�L�
LVNUFDM�XNUFDM�WHUHWD�
QDPLMHQMHQRJ�]D�
SRWUHEH�SURL]YRGQRJ�
SURFHVD�RYODãWHQLND�
NRQFHVLMH��

VSRUWVND�OXND�

YH]�EURGLFD�XSLVDQLK�
X�KUYDWVNL�RþHYLGQLN�
EURGLFD�V�QDPMHQRP�
VSRUW�L�UD]RQRGD�X�
YODVQLãWYX�þODQRYD�
XGUXJH�NRMD�LPD�
NRQFHVLMX�]D�OXNX�

EURGRJUDGLOLãQD�OXND�
L]JUDGQMD�L�LOL�UHPRQW�
SORYQLK�REMHNDWD�

/8.(�

/8.(�326(%1(�1$0-(1(�
GUåDYQRJ�L�
åXSDQLMVNRJ�]QDþDMD�

ULEDUVND�OXND� SULKYDW�L�VPMHãWDM�
ULEDUVNLK�SORYLOD�

33ä�VLPERORP��
�

�

�
�
�
/9��YRMQD�
/1�QDXWLþNL�
WXUL]DP�
/,�LQGXVWULMVND�
/6�VSRUWVND�
/%�EURGRJUDGLOLãQD�
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